12a0943 (K 12a0243)

A AR
'\//—L/ 3 6 7 10 2 1 5 12 11 4 9 8

Solving Sequence

N /\ Linearized knot diagam
~

411>10>5—>9->12>8—>1—>7—>3—>2—> 6> (2,C5
Clo €4 Cg Cg

A knot diagranﬂ €11 €8 Ci2 Cr €3

Ideals for irreducible component#ﬂ)f Xpar

I = (b 4% 4 1)

* 1 irreducible components of dim¢ = 0, with total 66 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u4+u®+..-+u+1)

(i) Arc colorings

a8: U/6+u2
uS+ub +3ut+2u2+1
a].: u8+2u4

a7 = \ 2 4 2410 + 448 + 6ub + 3ut + 2u?

—u?l =201 . —6ud —u
—u® —3u 4+ =20
W2 45050 4241

w4 6u? + - — 17ub 4 u?

( —U28—3U26+"'+U2+1 )

w0 4+ u® +4u8 +3ut + 3w +1 >

ag =
a6 = \ —u?® — 2426 ... 4 3ut + 2u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u%* — 45 + ... —4u —6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u%® +31u% - —u+1
c2,Cs u® 4+ u% 4 4 3u+ 1
€3 u® — u% 4+ +1669u + 673
€4, C10 u +u® 4 ut1
Co u® + 3u% + -+ +539u + 105
cr u +9ub® + ... £ 113u 429
087‘39’2; u® +13u% w1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 Yo+ 9y% 4+ 49y + 1

C2,Cs Yo — 3199 . 4y +1
€3 % —2345° + ... — 12012391y + 452929

€4, C10 YO+ 13y + .y + 1
‘6 y%% + 13y% + - + 356909y + 11025
cr Y90 — 119% + ... + 23481y + 841

(3870972; Y80 4+ 81955 ... — Ty + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
uw=0.599044 4 0.8264431 2.20023 + 0.039811 1.90801 + 0.7
= 0.599044 — 0.8264431 2.20023 — 0.039811 1.90801 4 0.1

u = 0.516168 4 0.8945441

—2.24111 + 4.140511

—5.37917 — 5.765861

u= 0.516168 — 0.8945441

—2.24111 — 4.140511

—5.37917 + 5.765861

u = —0.575209 + 0.8600591

3.33392 — 4.673441

3.60111 + 7.517731

u = —0.575209 — 0.8600591

3.33392 4 4.673441

3.60111 — 7.517731

u = —0.417668 + 0.8581791 —3.47104 — 4.657421 —7.34835 + 7.776571

u = —0.417668 — 0.8581791 —3.47104 + 4.657421 —7.34835 — 7.776571

u = —0.548997 + 0.9019181 2.20323 — 6.682201 0. + 7.348501
u = —0.548997 — 0.9019181 2.20323 + 6.682201 0. —7.348501
u= 0.662569 4 0.6680011 2.71906 + 4.655721 3.37494 — 5.916361
u= 0.662569 — 0.6680011 2.71906 — 4.655721 3.37494 + 5.916361

u = 0.545262 4 0.9167501 —0.02627 + 11.644501 0. —11.117861
U 0.545262 — 0.9167501 —0.02627 — 11.644501 0.+11.117861
u = —0.658358 + 0.6242661 4.09825 4 0.065031 6.21402 — 0.176801

u = —0.658358 — 0.6242661 4.09825 — 0.065031 6.21402 + 0.176801

u = —0.331173 + 0.8445571 —2.52809 + 2.557171 —6.16177 + 0.113621

u = —0.331173 — 0.8445571 —2.52809 — 2.557171 —6.16177 — 0.113621

u = —0.111108 4 0.8978061 —3.65266 — 7.155801 —8.25035 + 7.793171

uw = —0.111108 — 0.8978061 —3.65266 + 7.155801 —8.25035 — 7.793171

u = —0.056026 4 0.8816511 —5.32447 + 0.229261 —11.87724 4- 0.466231

—0.056026 — 0.8816511

&
-~
I

—5.32447 — 0.229261

—11.87724 — 0.466231

0.112571 + 0.8662371

S
|

—1.39262 + 2.458641

—5.10441 — 4.276231

0.112571 — 0.8662371

S

—1.39262 — 2.458641

—5.10441 + 4.276231

u = —0.669205 + 0.5547611

3.32166 + 2.134571

5.05558 — 0.878911

u = —0.669205 — 0.5547611

3.32166 — 2.134571

5.05558 + 0.878911

u = 0.683206 4 0.5331261

1.20996 — 7.072931

1.66097 + 5.058391

u = 0.683206 — 0.5331261

1.20996 + 7.072931

1.66097 — 5.058391

u= 0.397569 + 0.7662881

—0.23774 + 1.553591

—1.92023 — 4.379441

u= 0.397569 — 0.7662881

—0.23774 — 1.553591

—1.92023 + 4.379441




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

0.610588 + 0.5151351

—1.056340 4 0.1219361

—1.71551 — 0.702491

0.610588 — 0.5151351

—1.056340 — 0.1219361

—1.71551 + 0.702491

0.188820 + 0.7399721

—0.49246 4 1.402241

—3.25312 — 5.956951

0.188820 — 0.7399721

—0.49246 — 1.402241

—3.25312 + 5.956951

0.868041 + 0.9069091

4.33013 — 0.665591

0

0.868041 — 0.9069091

4.33013 + 0.665591

0.860634 + 0.9289081

4.26183 + 7.076431

0.860634 — 0.9289081

4.26183 — 7.076431

—0.873798 4- 0.9215501

7.45184 — 3.235041

—0.873798 — 0.9215501

7.45184 + 3.235041

—0.906361 4 0.8961911

6.91112 4 0.261951

= —0.906361 — 0.8961911

6.91112 — 0.261957

—0.918035 + 0.8945901

9.54527 + 7.872921

—0.918035 — 0.8945901

9.54527 — 7.872921

0.916098 + 0.8986401

11.73460 — 2.741511

0.916098 — 0.8986401

11.73460 4 2.741511

0.913249 + 0.9108621

12.86730 — 0.201731

0.913249 — 0.9108621

12.86730 + 0.201731

—0.911288 +4- 0.9178001

11.72190 — 4.803481

—0.911288 — 0.9178001

11.72190 + 4.803481

—0.876349 + 0.9592091

6.70835 — 6.840971

—0.876349 — 0.9592091

6.70835 + 6.840971

—0.894477 4- 0.9504451

11.61560 — 1.851231

—0.894477 — 0.9504451

11.61560 4 1.851231

0.890410 + 0.9558831

12.7211 4 6.84931

0.890410 — 0.9558831

12.7211 — 6.84931

0.883095 + 0.9644861

11.5212 + 9.37331

0.883095 — 0.9644861

11.5212 — 9.37331

—0.881274 4 0.9679131

9.3076 — 14.50441

u
u
u
u
u
u
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u
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= —0.881274 — 0.9679131

9.3076 + 14.50441
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Solutions to I}

V=1(vol + y=1CS)

Cusp shape

—0.536662 + 0.1263081

—0.45344 — 5.387311

1.77316 + 5.796401

= —0.536662 — 0.1263081

—0.45344 4 5.387311

1.77316 — 5.796401

—0.469047 4- 0.2782781

—1.96507 + 1.346801

—1.73694 — 0.715891

—0.469047 — 0.2782781

—1.96507 — 1.346801

—1.73694 + 0.715891

0.487711 + 0.0780721

1.49223 + 0.763671

5.93436 — 1.141721

glele(g|g|e
I

= 0.487711 — 0.0780721

1.49223 — 0.763671

5.93436 4 1.141721




II. u-Polynomials

Crossings u-Polynomials at each crossing
! u%® 3105+ —u 41
c2,C5 % +u 4+ 4 3u+1
c3 u® — w5 4 ... £ 1669u 4 673
€4, C10 ub +u® 4+ w1
C6 u%® 4+ 3u% + .- 4 539u 4 105
7 u% 4+ 9u% ... 4 113u 429
08,09,2; w0 1305 4yt 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

‘1 Yoo+ 9y 449y + 1

C2,C o — 31y . by +1
Cs y%0 — 2395 + ... — 12012391y + 452929

C4, C10 Y%+ 135+ 4y +1
6 y% + 13y%° + - 4 356909y + 11025
cr Y% — 11y% + ... + 23481y + 841

€8, C9, C11 Y80 4+ 81955 ... — Ty + 1
C12




